&)ATE Forum

engin esnng sUCCess

int (*f) (int*);
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void foo (int n, int sum 0) {
intk=0,j=0;
if (n==0) return;
k=n% 10;j=n/10;
sum = sum + k;
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foo (j, sum);
printf (“%d,”, K);
}
int main () {
int a = 2048, sum = 0;
foo (a, sum);
printf(“%d\n”, sum);
}
%
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double foo (double); [* Line 1 */
int main () {
double da, db;
// input da
db = foo (da);
}
double foo (double a) {
return a;
}
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int min () { [* Line 1 */
int I, N; /* Line 2 */
fro (I =0, I<N, I++); /* Line 3 */
}
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if (fork () ==0)
{a=a+5; printf(“%d,%d\n", a, &a); }

else { a = a -5; printf(“%d, %d\n”, a, &a); }
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double foo (int n) {
int i;
double sum;
if (n==0) return 1.0;
else {
sum = 0.0;
for (i =0; i<n; i++)
sum +=foo(i);
return sum;
}}
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